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17:30 060 vs 7 7Ly &7 I—d|Cinquante / EHvAZ—X
1 6H8H H NFC-B 18:40 Z3 ELFCOB vs AE L I—dond 060 HE / L X
19:50 FC Cinquante vs DEH~AX —X|Z&HEFCOB / AEAI—I
17:30 Z5 EFCOB Vs Hr 060 7 7 L4 / Cinquante
2 6 H H | KifeE 18:40 =t 3 —=9ond 060 vs DEH~AZ —X|  ZSEFCOB / #HE I,Z\.l;{
19:50 |/ 7Ly #73—= vs FC Cinquante |ztnis—= / mmwzxz—x|
17:30 ZS R FCOB vs  FC Cinquante HE / AL I—=
3 8H23H + NFC-B 18:40 |DEHA~AHX —X ys 7 7Lra7I—=2| ZZSBFCOB / Cinquante
19:50 HTHE060 vs AE/LI—=2nd 060G~ AL —X /| s7LL4
17:30 FC Cinquante vs HHE060 R~ A4 —X [ Z5EFCOB
4 9H14H H NFC-B 18:40 |7 7Ly &73I—= vs AE/LI—=2nd 060 Cinquante / HrE
19:50 |DEHE~AHX—R vs ZX LFCOB JrLyH [ AELI—I
17:30 |z 7vo273I—=2 vs Zx LFCOB AE/NI—= / Cinquante
5| 926n | B | A | 18:40 |pEmE~ A& —=X vs HIE060 |77 L X/ ZSEFCOB 1%1&\
19:50 |=E3—=2nd 060 vs FC Cinquante |EHE~AZX—X / HE
17:30 |7 7Lvo&73I—= vs 14060 B~ A%—X / Cinquante
6 1074H + | NFC-B 18:40 |=xv 3 —=2nd 060 Vs Z3 FLFCOB 7Ly a / HE
19:50 |DEEH~AHZ —RX vs FC Cinquante |AE /L I—= / ZSEFCOB
17:30 HrHE060 Vs Z3 RFCOB Cinquante / Z 7L #
7| 10H12H A | NFC-A 18:40 |DEH~AX —R vs AEAI—=omd 060| HiE / Z3EFCOB
19:50 FC Cinquante vs 7 7Ly &7 I—d|@EH~vAZ—R / AEAI—=
F5 17:30 Z5 EFCOB Vs Hr 060 7 7 L4 / Cinquante A s
2 11H2H Ho|74—7| 18:40 [ren3—=2md 060 vs DEH~AZ—X ZKEFCOB / #HiE 61#/2/9/
BE YT T1950 [syvos7rs—a vs  FC Cinquante |=en<—o | mmens—x| 20
17:30 FC Cinquante  vs ZSFFCOB A NI —=2 / HE
8 11A8H + | NFC-A 18:40 |7 7vy a7 3—= vs D~ A% —X| Cinquante / Z3EFCOB
19:50 |AEA I —=2nd 060 Vs HTE060 JyLrH /) EHATAZ—R
17:30 HH060 vs FC Cinquante |[ZEFCOB / @M~ AK—X
9 11A16H H NFC-B 18:40 |xvnr—=2nd 060 vs 7 7L &7 I—=| HE / Cinquante
19:50 Z3 EFCOB vs DEIH~AZ—X| 2L —a / 7L H
s 7‘ 17:30 7z 1/‘/5'7i~:j Vs Z%EEFCOB AE/NI—= / Cinquante R
5| 1LH24F | 3 | NFC-B 18:40 |DEH~ A X —X vs HTHE060 77 LS/ FRRFCOB|  9/28
19:50 |=Ens—=2nd 060 vs FC Cinquante |mim~zx—= / #E| N
F35 17:30 FC Cinquante vs AL 3—=ond 060|FTE / EH~AZ—RX
10 12H6H T[T —7 | 18:40 ZS FLFCOB vs 77 L 47 I—=|Cinquante / AELI—=
BE T 950 HHE060 vs DEH~AX —X|ZBFCOB / V7L X




